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QUESTION 1

Your network includes SRX Series devices at the headquarters location. The SRX Series devices at this location are
part of a high availability chassis cluster and are configured for IPS. There has been a node failover.

In this scenario, which statement is true?

A. Existing sessions continue to be processed by IPS because of table synchronization.
B. Existing sessions are no longer processed by IPS and become firewall sessions.

C. Existing session continue to be processed by IPS as long as GRES is configured.

D. Existing sessions are dropped and must be reestablished so IPS processing can occur.

Correct Answer: A

QUESTION 2

Click the Exhibit button.

userfhosc> show ethernet-switching global-information
Global Configuration:

MAC aging interval : 300

MAC learning : Enabled
MAC statistics : Disabled
MAC limit Count : 65535

MAC limic hit : Disabled
MAC packet action drop : Disabled
LE aging time : 1200

LE VLAN aging time : 1200
Global Mode : Switching

Referring to the exhibit, which two statements are true? (Choose two.)
A. You can secure inter-VLAN traffic with a security policy on this device.
B. You can secure intra-VLAN traffic with a security policy on this device.
C. The device can pass Layer 2 and Layer 3 traffic at the same time.

D. The device cannot pass Layer 2 and Layer 3 traffic at the same time.

Correct Answer: AC
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QUESTION 3

SRX Series devices with AppSecure support which three custom signatures? (Choose three.)
A. MAC address-based mapping

B. latency detection mapping

C. IP protocol-based mapping

D. ICMP-based mapping

E. Layer 7-based signatures

Correct Answer: CDE

QUESTION 4

What is the required when deploying a log collector in Junos Space?
A. root user access to the log collector

B. a shared log file directory on the log collector

C. the IP address of interface ethl on the log collector

D. a distributed deployment of the log collector nodes

Correct Answer: A

QUESTION 5

What are three components of Software-Defined Secure Networks? (Choose three.)
A. Contrail

B. Sky ATP

C. SRX Series device

D. Security Director

E. Network Director

Correct Answer: BCD
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